AR AE I SEIL TN AR FR 3R (BAHE)

=i HLoRE

S5 H (2023/02/07) HiE(ARE ) BB @BULS BE
[EE 2L L
HERNO =S4 PN TAE S EAESIES
0206110 |EE'REFE (%) 300 [ A 35 700] 23] 700
S5 H (2023/02/07) HiE(ARE ) BB @GULs El
FE & 2L L M
HERNO =S4 A E ARSI ENAE S ETAESSES
0206157 |FEAKE T E (%) 1000 [ A 5] 2700
0206160 |[EE'REFREFE(F) | 300 A 48] 700] 18] 900 3] 650
A 3] 700
53 H (2023/02/07) HiE(BRE ) EB@BuLs EE
B R 2L L M S
HERNO =4 N E B ES AR S ES AR SEHES AR SEH EL
0206250 [FEEA KRBT E (k) 300 | A 61] 700 86| 800] 33] 600 4] 500
0206251 [ERETE () 300 | A 48] 800[ 45| 800/ 30| 600 6] 500
A 13] 700 30] 700
B 3| 600 6| 600 3| 500 8] 400
0206252 [E'RETE () 300 | A 14| 900[ 13| 900 4] 600
A 20 700] 62| 700
B 3] 600 2| 400
53 H (2023/02/07) HiE(BRE ) EBGuns B )
B R 2L L M S
HERNO =S4 N E T AE S ES AR S ES AR SEHES AR S EL
0206550 [ERETE () 300 [ A 80] 600/ 66| 600 4] 500 6] 400
0206551 [EREFE (#%) 300 [ A 10 700 5/ 800] 10] 500 3] 400
A 55 700
F=3LH (2023/02/09) [SiE(BAFE ) EBGBULs SEAE )
FE& R 2L L
HERNO =S4 N A ES AR ES
0208110 [ERETE () 300 [ A 30| 700] 26| 700
F=3LH (2023/02/09) [RiE(BAFE ) Em@Buns & )
FE& R 2L L M S
HERNO =S4 e SR\ H=EHMm | H= 5| =S| = Bl
0208160 |FE'REHRRFTE () | 3.00 [_A 44| 700[ 14| 700 2| 600
A 7| 700 6| 700 4] 600 2| 400




S5 H (2023/02/09) HiE(ARF ) ER@GBULS EH )
FE & 2L L M S
HERNO =S4 N E ARSI ENAE S ETAE S ES AR SED
0208250 |EEAKXEIFE (%) 300 [ A 30l 600] 40 700] 30 500
0208251 |[EE'REFE (%) 300 [ A 32| 700] 46| 700] 26| 500] 16/ 600
B 5 600 4] 500 8] 400
0208252 |[EE'REFE (%) 300 [ A 25| 700/ 30| 700 4] 500
B 4] 500 1] 400
S5 H (2023/02/09) HiE(ARE ) BB @GULSs B s )
FE & 2L L M S
HERNO =S4 N E ARSI ENAE S ETAE S ET A E S ED
0208550 |EE'REHE (%) 300 | A 61] 600] 48] 600 2| 400 3] 300
0208551 |EE'RETE (%) 300 | A 4] 700l 50] 700 15| 500 3] 400
53 H (2023/02/10) SHiE(BAHE ) BBl EE )
B R 2L L M S
HERNO =S4 N E B S ES AR S ES AR SEHES AR S EL
0209250 [ERETE () 300 | A 1] 800] 10| 800 8] 700 1l 600
B 2| 500
0209251 [BERETE () 300 [ A 6] 800 3] 900 2] 700
A 9| 700] 10[ 800
B 4] 600 1] 500
53 H (2023/02/10) SHiE(BARE ) EBGuns B )
B R 2L L M S
HERNO =S4 N E T AE S ES AR S ES AR SEHES AR S EL
0208550 [EREFTE (k) 300 | A | -61] 600] -48] 600 -2| 400/ -3| 300
A 61| 600 2| 300 2| 400 3] 300
A 46] 110
F=3LH (2023/02/13) SiE(BAFE ) ER@Buns & )
FE& R L M S
HERNO =S4 e |ER | = | Bl | = | B | = | Bl
0211157 [EERAKBETE (k) 1000 [ A 5] 2700 0 0 0 0
F=3LH (2023/02/13) RiE(BHFE ) EB@BuLs EE )
FE& R 2L L M S
HERNO =S4 e SR\ H=EHMm | H= 5| =S| = Bl
0211251 [BERETE (&) 300 | A 5/ 800 59| 800| 40[ 600 4] 500
A 55 700
B 1| 500 9] 500 4] 500 9] 400
0211252 [BERETE (&) 300 [ A 71 900] 35[ 800 6] 600
A 10 800
B 1| 500 8] 500 1] 500




